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Answer all questions.

 1 Three stages of a data processing system are input, processing and output.
 

 State, using an example for each one, what is meant by the following terms.

 (a) Input (2 marks)

 (b) Processing (2 marks)

 (c) Output (2 marks)

 2 A company is recruiting a new member of staff for its ICT support desk.  The head 
of Human Resources has asked the manager of the support desk what personal 
qualities the new employee should have in order to be able to carry out the job effectively.

  State, with reasons, three personal qualities that the manager would want a 
new support desk employee to have. (6 marks)

 3 A Sales Manager requires good information that has value and importance.

  Describe three characteristics of information that give it value and importance for 
the Sales Manager. (6 marks)

 4 For each of the following areas, state one use of ICT (other than the Internet) and 
a benefit of that use.

  Your benefits must be different for each area.

 (a) Education (2 marks)

 (b) Medicine (2 marks)

 (c) Banking (2 marks)

 (d) Travel Industry (2 marks)
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Turn over!

 5 Information systems need to be protected.
  
 (a) (i) Explain, using an example, what is meant by an internal threat to 

an information system. (3 marks)

 (ii) Describe a measure that a company can take to protect its information system from 
an internal threat, stating how the system will be protected from it. (2 marks)

  (b) (i) Explain, using an example, what is meant by an external threat to an information 
system. (3 marks)

 (ii) Describe a measure that a company can take to protect its information system from 
an external threat, stating how the system will be protected from it. (2 marks)

 6 People who access computer systems without authorisation can be prosecuted for committing 
an offence under the Computer Misuse Act.

 (a) For each of the three sections of the Computer Misuse Act, describe the section and give 
an example of an offence under that section. (6 marks)

 (b) Explain why there are few prosecutions under the Computer Misuse Act. (2 marks)

Turn over for the next question
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 7 (a) The Internet is used by many organisations.

   For each of the following activities, state how the Internet can be used by an organisation 
and explain the benefit of that Internet use to the organisation.

 (i) Advertising (2 marks)

 (ii) Selling (2 marks)

 (iii) Researching (2 marks)

 (b) Individuals and organisations make use of the Internet for communication.

  Describe three ways of communicating that the Internet supports and give a benefit to 
the user of each one. (6 marks)

 (c) An employee works away from both her home and her company�s offices.  The company 
wants to be able to contact the employee wherever she is, including abroad.

 (i) Suggest an electronic device that the company could provide her with so that 
she can be contacted. (1 mark)

 (ii) Explain why the device you have suggested would be a good choice for 
the company. (2 marks)

 (iii) What would be a disadvantage to the employee of having to use this device?
(1 mark)

END  OF  QUESTIONS
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